




Setup the power foundation without the bed frame.

1 Open the box lid.

Remove the red plastic safety lock before unfolding your power foundation.4

HEAD BOARD

3 Install 4 legs (11.3"), make sure the
legs are tight.

HEAD BOARD

2
Hand 

Control

ACCESSORIES BOX:

×6

Legs(11.3")

×1

AC Power Cord

×1 ×1

Power Supply

×2

Legs(1.6")

Take out all the accessories from the 
packaging and put them aside.

×1(2 for K/CK)

Mattress Retainer Bar

×1

Accessories Box

Attach the 1.6" leg section to 11.3"
section. The (2) legs will be installed 
on Step 8.5

Remove the red plastic 
safety clip. 

Turn the locking pin 90° in 
counter clockwise direction.

Red Plastic 
Safety Clip

Locking Pin

Remove the folding locking 
pin by pulling upwards.

Locking Pin



HEAD BOARD

6 Remove the bed from the box 
with a flipping motion, let the 
bed stand on the 4 legs. 8 Install the remaining 2 legs on the 

foot end of the bed, make sure the 
legs are tight. Uncoil the DC power 
cord and the hand control connector.

HEAD BOARD

DC
Power Cord

Hand Control
Connector

7 Flip the foot end of the bed 
from the box and lay it on top 
of the end at the headboard.

HEAD BOARD

9 Connect the hand control and secure it with the connector lock. Uncoil 
the AC power cord, connect the DC power cord to the power supply. 10 Make the bed completely flat.

AC
 P

ow
er

 C
or

d

Power Supply

DC Power Cord Hand ControlHand Control Connector

HEAD BOARD

HEAD BOARD



12 Connect the power supply 
to the AC power source.

DONE!

11 Install the mattress retainer 
bar one side after another.

AC
Power Cord

AC Power Source

HEAD BOARD
2

1



Setup the power foundation with the bed frame and slat base.
*NOTE: Optional parts are required.

1 Take the bed out of the box, put it on the slat base, do not 
install any legs. Uncoil the DC power cord and hand control 
connector. 

HEAD BOARD

Hand
Control connector

DC
Power Cord

2 Connect the hand control and secure it with the connector 
lock. Uncoil the AC power cord, connect the DC power cord 
to the power supply and pull the AC power cord towards the 
direction of the AC power source through either the bottom 
or the side of the bed frame.

AC
Power Cord

HEAD BOARD

Hand
Control

ACPower Cord Power Supply
DCPower Cord

Hand
Control connector



4 Install the 1.6" metal legs onto the foot end of the frame.3 Turn over the bed. Install the middle stabilizer bracket as shown.
(*Optional parts are required to perform this setup. )

5 Make the bed completely flat with a flipping motion. 

HEAD BOARD

2

1

6 Install the mattress retainer bar one side after another. 

Metal Frame
Of The Bed

HEAD BOARD
Slat Base

Screws
ST4.2×16

HEAD BOARD

HEAD BOARD



DONE!

7

HEAD BOARD

Screws
ST4.2×16

Washers

M8*16 Bolts

Hand Control Instructions

ADJUST

This button lifts the head section of the foundation.

This button lowers the head section of the foundation.

Lift Head

Lower Head

AC Power Source

AC
Power Cord

HEAD BOARD

8 Lift the head of the bed by hand control. Install the two 
stabilizer brackets as shown.
(*Optional parts are required to perform this setup. )

Connect the power supply to the AC power source.



1 2

2
1a)Align the slot hole of the headboard bracket to the sleeve into 

which the leg threads. DO NOT OVERTIGHTEN. Too much force 
may damage the thread.

b)The headboard bracket has 2 adjustable slots to accommodate 
any frame type. Use the bolts and washers to secure the bracket. 
Make sure the bolts are tight.

Headboard Bracket Installation Guide (Optional)

Headboard brackets are optional and not included. A 1/2” (13 mm)
socket and 1/2” (13 mm) wrench are required to complete the installation.

a)To put the T-Bracket and Headboard Bracket together, you will 
need (2) M8×16 bolts and (2) nuts. Slip the bolts through the holes 
from T-Bracket to Headboard Bracket with the head of bolt facing 
outward. Use the 1/2” (13 mm) socket and 1/2” (13mm) wrench to 
tighten the bolts.

You may now connect your headboard to the attachment plates using the remaining short bolts 
and nuts to secure it to the brackets. The heads of the bolts will face outward. Use a 1/2” (13mm) 
socket and 1/2” (13mm) wrench to tighten the bolts.

(2) Headboard Brackets (2) T-Brackets (8) M8*16 (4) Nuts (4) Washers

Customer Service Toll Free:1-888-980-5122

Parts List

INCLUDED WITH POWER FOUNDATION

(8) Screws
ST4.2×16

(6) Legs(11.3")(1)AC Power Cord Mattress Retainer
Bar (2 for King)(1)

Stabilizer
Brackets(2) (1)Socket Wrench (4)M8*16 Bolts (4)Washers

(1)Hand Control

9V 9V

(optional)

9V

Middle Stabilizer
Brackets(1)

OPTIONAL EQUIPMENT/PART (NOT INCLUDED)

PRODUCT PROTECTED BY FOLLOWING PATENT:
— US PATENT: 10, 306, 994 

(2) Legs(1.6")

All electronics and components that need to be installed are located in
boxes under the foundation or attached to the frame.Before discarding
the packing materials,ensure that all the parts are accounted for.


